

Convertir Fahrenheit a Celsius (J)

Estime o convierta las temperaturas.

$-31\text{ }^{\circ}\text{F} = \text{ ____ }^{\circ}\text{C}$

$100\text{ }^{\circ}\text{F} = \text{ ____ }^{\circ}\text{C}$

$23\text{ }^{\circ}\text{F} = \text{ ____ }^{\circ}\text{C}$

$49\text{ }^{\circ}\text{F} = \text{ ____ }^{\circ}\text{C}$

$-61\text{ }^{\circ}\text{F} = \text{ ____ }^{\circ}\text{C}$

$-67\text{ }^{\circ}\text{F} = \text{ ____ }^{\circ}\text{C}$

$87\text{ }^{\circ}\text{F} = \text{ ____ }^{\circ}\text{C}$

$-72\text{ }^{\circ}\text{F} = \text{ ____ }^{\circ}\text{C}$

$-81\text{ }^{\circ}\text{F} = \text{ ____ }^{\circ}\text{C}$

$-16\text{ }^{\circ}\text{F} = \text{ ____ }^{\circ}\text{C}$

$28\text{ }^{\circ}\text{F} = \text{ ____ }^{\circ}\text{C}$

$-30\text{ }^{\circ}\text{F} = \text{ ____ }^{\circ}\text{C}$

$-44\text{ }^{\circ}\text{F} = \text{ ____ }^{\circ}\text{C}$

$-9\text{ }^{\circ}\text{F} = \text{ ____ }^{\circ}\text{C}$

$36\text{ }^{\circ}\text{F} = \text{ ____ }^{\circ}\text{C}$

$-87\text{ }^{\circ}\text{F} = \text{ ____ }^{\circ}\text{C}$

$-85\text{ }^{\circ}\text{F} = \text{ ____ }^{\circ}\text{C}$

$-13\text{ }^{\circ}\text{F} = \text{ ____ }^{\circ}\text{C}$

$-82\text{ }^{\circ}\text{F} = \text{ ____ }^{\circ}\text{C}$

$-89\text{ }^{\circ}\text{F} = \text{ ____ }^{\circ}\text{C}$

$-59\text{ }^{\circ}\text{F} = \text{ ____ }^{\circ}\text{C}$

$-96\text{ }^{\circ}\text{F} = \text{ ____ }^{\circ}\text{C}$

$-79\text{ }^{\circ}\text{F} = \text{ ____ }^{\circ}\text{C}$

$-67\text{ }^{\circ}\text{F} = \text{ ____ }^{\circ}\text{C}$

$-9\text{ }^{\circ}\text{F} = \text{ ____ }^{\circ}\text{C}$

$41\text{ }^{\circ}\text{F} = \text{ ____ }^{\circ}\text{C}$

$47\text{ }^{\circ}\text{F} = \text{ ____ }^{\circ}\text{C}$

$67\text{ }^{\circ}\text{F} = \text{ ____ }^{\circ}\text{C}$

$81\text{ }^{\circ}\text{F} = \text{ ____ }^{\circ}\text{C}$

$57\text{ }^{\circ}\text{F} = \text{ ____ }^{\circ}\text{C}$